

### University of North Florida UNF Digital Commons

Legislation Student Government

Summer 5-1-2009

# Senate Bill SB-09S-2335 Transfer of Funds to the Student Union Administration for Equipment

Student Government Association University of North Florida

Follow this and additional works at: https://digitalcommons.unf.edu/sgaleg

### **Suggested Citation**

Student Government Association, "Senate Bill SB-09S-2335 Transfer of Funds to the Student Union Administration for Equipment" (2009). *Legislation*. 2681. https://digitalcommons.unf.edu/sgaleg/2681

This Article is brought to you for free and open access by the Student Government at UNF Digital Commons. It has been accepted for inclusion in Legislation by an authorized administrator of UNF Digital Commons. For more information, please contact Digital Projects.

© Summer 5-1-2009 All Rights Reserved





# SENATE LEGISLATION SB-09S-2335

\$99

= \$1,188

	mirersity by	, , , , , , , , , , , , , , , , , , ,	,							
1		SB-09S-233	5 : Student	Union	Administration					
2	Whereas:	The Student Government of the University of North Florida was established to represent student concerns in all University wide matters, and;								
4 5 6 7 8	Whereas:	The Budget & Allocations Committee is a standing committee of the Student Government Senate, responsible for funding only those entities that comply with the Student Government mission, which is to represent student concerns in all university wide matters while developing and promoting programs and activities of practical value and interest to students, and;								
9 10	Whereas:	This purchase or activity reflects the genuine students interest and enhances the educational, social, cultural, and recreational interests of the University of North Florida students and;								
12	Whereas:	The Student Union Administration is enhancing the cultural and social interests of the students of the University of North Florida, and;								
13 14 15	Whereas:	The Student Union Administration, in order to further enhance the cultural and social interests of the students of the University of North Florida, is in need of the following equipment items, and;								
16	Whereas:	The Student Union Administration is requesting funding for the below items:								
17 18 19 20 21 22	Audio/Visua Subtotal	Display Easels Hubert Sign Holder Logitech USB Device Quartet Whiteboard/Easel	4 4. 6 6	X X X X	\$173 = \$692 \$282 = \$1,128 \$99.99 = \$599.94 \$593.95 = \$3,563.70 = \$5,983.64					
23 24 25 26 27 28 29 30 31	POD Storage Subtotal Sound Items	Refurbished 20'x8'x8' Container	1 4 4 2 1 2 4	X X X X X X	\$2,440 = \$2,440 = \$2,440 \$599 = \$2,396 \$59.99 = \$239.96 \$299.99 = \$599.98 \$899.99 = \$899.99 \$499.99 = \$999.98 \$80.18 = \$320.72					
34 35		Shure 55SH-II Nostalgic Mic	2	X	\$159 = \$318					

Shure SM58-LC Mic



## SENATE LEGISLATION SB-09S-2335

1	SB-09S-2335: Student Union Administration				
2 3 4 5 6 7 8 9 10 11 12 13 14 15	SKB1200 Mic Case Gator Case Wireless Mic Case Ultimate Support Mic Stand Ultimate Support Mic Boom Stand 25' Mic Cable 50' Mic Cable Horizon Reel Snake 24x4x150 Hosa Sub Snake 6x2x20 Pro Co SM2404FBX100 Snake Shure UR2/SM86-G1 Wireless Mic Shure UR123D/SM86-G1 Wireless SKB19-4U 4 Rack Unit Rack Fender Audio PD-250 Fender Audio PD-250 Cover Fender Audio Passport Travel Pack Ultimate Support Mic Table Stand Yamaha 01V96VCM Mixer JBL 15" MRX515 Speaker Shure PG81-XLR Instrument Mic Shure PGDMK6-XLR Drum Mic Pro Co XLR30 30' Cable Pro Co XLR30 30' Cable Pro Co XLR10 10' Cable Hosa CSS-505 5' 1/4" Cable Pro Co S12NN100 Speaker Cable Yamaha P7000S Power Amp JBL 18" PRX518S Subwoofer JBL 12" JRX112M Monitor Speaker	2 1 18 25 10 10 1 1 1 1 4 2 1 1 1 1 1 1 2 5 1 1 1 1 1 5 1 1 5 1 1 5 1 8 8 8 8 8 8	X X X X X X X X X X X X X X X X X X X	\$154.99 = \$309.98 \$184.99 = \$184.99 \$49.99 = \$899.82 \$34.99 = \$874.75 \$50.75 = \$507.50 \$59.66 = \$596.60 \$695.97 = \$695.97 \$89.97 = \$89.97 \$639.97 = \$639.97 \$1,039 = \$4,156 \$4,815 = \$9,630 \$184.99 = \$184.99 \$699.99 = \$699.99 \$29.99 = \$29.99 \$69.99 = \$69.99 \$12.99 = \$129.90 \$2,399.99 = \$2,399.99 \$689.97 = \$1,379.94 \$129.97 = \$649.85 \$399.97 = \$399.97 \$36.39 = \$545.85 \$27.29 = \$218.32 \$17.19 = \$137.52 \$6.39 = \$38.34 \$130.97 = \$785.82 \$749.99 = \$2,249.97 \$1,099.97 = \$2,199.94 \$319.97 = \$1,279.88 \$259.97 = \$259.97	
31 32 33	DBX 1074 Gate  Monster Power Pro 2500 PowerCenter Subtotal	1	X X	\$529.97 = \$529.97 \$199.95 = \$199.95 = \$39,938.32	
34					
35 36 37 38 39	Portable Staging Stage Right FR-2403 Stage Right Shipping Stage Right Adjustable Stairs Stage Right Shipping Subtotal	8 1 2 1	X X X X	\$1,692.75= \$13,542 \$1,617 = \$1,617 \$687.73 = \$1,375.46 \$225 = \$225 = \$16,759.46	
41 42	Tables, Chairs, Carts MityLite RT-3672 Interior Table	60	X	\$178.54 = \$10,712.40	



## SENATE LEGISLATION SB-09S-2335

1		SB-09S-2335: Student Union Administration					
2		MityLite RT-2448 Interior Table	20	X	\$116.47	= \$2,329.40	
3		MityLite CT-30D Cocktail Table	12	X	\$116.28		
4		MityLite CT/RT Cart	1	X	\$594.90		
5		MityLite Shipping	1	X	\$300	= \$300	
6	*	MityLite RT Upright Cart	8	X	\$360.45		
7		Palmer Snyder Outdoor Chairs	360	$\mathbf{X}$	\$17	= \$5,440	
23456789		Palmer Snyder Outdoor Tables	80	$\mathbf{X}$	\$110	= \$8,800	
		Palmer Snyder PCC-200 Chair Cart	3	$\mathbf{X}$	\$180	= \$540	
10		Palmer Snyder PCC-100 Chair Cart	1	X	\$155	= \$155	
11		Palmer Snyder HD-BTC72 Table Cart	7	X	\$350	= \$2,450	
12	Subtotal	l .			* *	= \$35,600.66	
13	Portable Rad	lios					
14		CP200 Portable Radio	9	X	\$375	= \$3,375	
_		6-Unit Rapid Rate Charger	2	X	\$375	= \$750	
		Spare Batteries	5	X	\$70	= \$350	
17	Subtotal					= \$4,475	
18	Total:				:	= \$105,177	
19 20 21	Therefore:	Let it be enacted, by the University of North Florida Student Government, that \$105,177 from the Special Request Index 402097 be transferred to the Student Union 402010 to pay for the above referenced items.					

#### **Senate Action**

Respectfully Submitted: Budget & Allocations Committee
Introduced by: Senator James Cima
Senate Action: 25-0-0
Date: 4/13/2009
Signed, James P. Cima

James Cima, Student Senate President

#### **Executive Action**

PASSED / VETOED / LINE-ITEM VETOED
on this 13 day of John R. Barnes

gned,

John Barnes, Student Body President